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1|unit 2 11UC Date: Name:

=
[]

Finance Unit
Tentative TEST date

Reflect - previous TEST mark . Overall mark now
Looking back, what can you improve upon?

Big idea/Learning Goals

In this unit you will study the applications of linear and exponential relations within financing. You will understand
the different formulas you must use for simple interest and compound interest. Simple interest means that the
interest grows by a constant rate each year. Compound interest means that the interest grows by a an
increasing rate each year, bacause the interest is calculated on the amount deposited as well as on the interest
already earned so far. The value of the monetary amount of many reqular deposits or payments is called an
annuity. These calculations are harder and you will lzarn how to use a TVM solver on the graphing calculator to
solve these types of questions. To make things interesting and applicable to real life you'll be working on a LIFE PROJECT

simultanecusly as you learn new material. Examples of what to do appear in notes in shaded boxes, but you are to record the Life Project
answers on the last few pages provided of this booklet to submit to the teacher later.

Success Criteria
O | am ready for this unit if | am confident in the following review topics

{cirzi the 1:p ‘T8 ¥OU are good 3t & ravlew e anss ¥ou Iaft uncirziad before ¥au ;E1 boa far tel‘lr-:l:l
Simolifying expressions, soiving eguations, expongniials, sxponsnl lws

O | understand the new topics for this unit if | can do the practice questions in the textbook/handouts
{chizck off the toples for which you have finlehad 1ha practizs)

Date | Topics Done?

Get Ready & Compare Simple and Compound Interest
Getready p450 845, 7 8

Section 5.1 p460 #7,59

Section 5.2 p465 #5,9

Section 5.3 p477 #5,9

Practice Simple & Compound Interest
Section 5.4 p457 #46.10.11.13 14

Annuities

Section 5.5 p499 #4578

Section 5.6 pS0G #2457

Mix of Questions — What formula to use?
Handout

Annuities with a TVM Solver

Handout

LIFE PROJECT — marked as KU part of this unit

O | am prepared for the test/evalutation if
o lunderstand the main concepts from each lesson
" T nat, aek other studerds In ciass 1o help you study or viel the pear futoring ream or 2sk tha teacher far halp or g&t 3 privale usor
" aleo pracice “unowlsdge-underslanaing” guestions from the texdtook — ook for quaetione marked by K
o | can explain/communicate the ideas clearly
u T nal, practice explaining 2 solved guestion o eomeana els2 or complets the asslgned Joumnal questians
" aleo pracice “communication” questiors from iha texibock — ook for guesione marked by o
= | can apply these concepts in word problems
= 1 nol, practice “applcation” quastions from the 1=etibook — ook for questions marked oy A
= | did not just memorize steps to do for different types of questions, | understand the ideas behind
each concept and therefore can do problems in new contexts
u 1 nol, practice “thinking-noury-proglem-solving” questions from the taxibaok — ook for gusstaons marked by T
= | can do guestions independently
= T nat, try redoing an alr2ady eolved axamgle withoul looking 21 solutians
= | can complete questions quickly and with confidence
" 1 naot, iy timing yoursalf for glmilar fyoe quaslizns to ss2 prograss
o | completed the review and/or practice test

Comections for the textbook answers:
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Get Ready

i] 1. A percentage is a way of expressing a number as a fraction of 100. How do you convert a percent to a decimal?

To convat % o Jeewall — Rivida |00
oc = move Atcvad to the U & Anevas

2. Express each percent as a decimal

a,35%= 0.3S b.,85%= O.OFS e l%= 0,59
2 \.\,. ?
\,I( :\'L l‘a& - O \oog
‘Ba"‘& o~
3. Convert time to years. 1year = 12months = 52weeks = 365days
3. 26 weeks b. 8 months c. 400 days
2
Sag '(O b = |.04%%... B,Lu(
=00 gen ERARA d N\
fove as Sodhien  udory Rt g
\oesk to ' oo by of on Rcvve
m Llfe P I'Oj ect Randomly select a career with its corresponding salary.
/ a. (Calculate the net income using the following taxation information for Ontario.
Yo {Met income = Gross income — deductions)
S b. Calculate the biweekly (every other week) gross earnings and biweekly net earnings to see how much tax is
e deducted from every paycheque.
o~ ! €. BOMUS at home. Go to www.studentcounsellor.com, login:
A7) 0_969, Investigate what are the academic requirements for your picked career, or something related to it if you
() . 5«’*‘ cannot find an exact match, and submit your findings with pros and cons of this job and whether or not you'd

wh choose it for yourself,

Federal tax rates for 2011 are:
63 P 15% on the first $41,544 of taxable income, +
U 22% on the next 541,544 of taxable income (on the portion of taxable income between 541,544 and $83,088), +

26% on the next $45,712 of taxable income (on the portion of taxable income between 583,088 and $128,800), +
29% of taxable income over 5128,200.

Provincial tax rates for 2011 are:
5.05% on the first 537,774 of taxable income, +

5.15% on the next $37,776 (on the portion of taxable income between 537,776 and $75,552), +
11.16% on the amount over 575,552

Ex. Civil engineer's gross sakery is 573,220, Spiit this amownt into corresponding tex brackets:
Federsl: 0.15(41 244 + 0.22[23 65 E4zm2

Prowincisi: 0.0203{37 774) + 0.054
Het income: 75 230 - 13 642.32

35 23257

EELE
Biwsmeily press earnings = 75 230 = 26 = 2 BI.A6

Biwesily net emrnings = 35 33267+ 26 = 2493.96
Taues deductad from every paychegue =2 833,46 — 213336 = 72550
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Compare Simple and Compound Interest

Name:

a1.

Suppose you put $1000 in a bank that earns 5% simple
interest per year.

Time Simple Interest Final Amount Differences
0 NA 1000
{so
(000 (0.05) 1000 >
\ =50 -+ SP
= lOSO
1000 (095) | |ocp > £s0
) =50 S0
) tCo
3 l(so
v S0
Y |a00

4 Look at the differences\and determine what type of functions these ara?

E&M\—- XS _Q.\W S\ \S}\ o\\%‘?{%\(ﬁ
(UV\QD\N‘A AnRest s -Q'Xeor*\o\'\”ml s W rodes

o~d CoXi0s

St

5. Summarize all the simple interest formulas

P=principal or initial amount deposited, present value
A=final amount or future value
r = annual interast rate (3% written as a decimal)

A=0+«T

| = inferest earnad in 3
T=9¢0

How much will you have after 15 years? How much of

the final amount is the interast?

T= 000(p05)15)
= SO

fonionk = YD
M\\\\\:\s‘vd‘\g’ﬁ%

Pove

Finance Page 4

2. Suppose you put 31000 in a bank that earns 5%
compound interest per year, compoundad annually

RoRes
Time Interest Final Amount
0 MNA 1000
>Xllo§
000(005) | (0o ¥
| >Sv +so
< [DSO
.05
[0S (009) | fosD
& =940 €52.50
= |10 Sp
109 S0 [0‘09 [10_ SO
P ~ +5S)
L NS 63
I5%6309%)] 15303
M oL 7.8 —+57.8¢

So——

s o He st
e tle sane

7. Summarize all the compound intarast formulas

C=# of compounding periods in a year ‘L.: —

i = periodic interest rate (3% written as decimal) -

n = total # of compounding pericds <
n=Ct

A= P(\&eY

8. How much will you have after 15 years? How much of

the final amount is the interest? Compare this with
simple interesk calculation. 1=0.0%

A= 1o \+ OL_QQ'Y n= @)
= Q018 9>
M AmowX" :;{O%’.QB
PNt or'a = |07&. 9%



4|Unit 2 1MUC Date: Name:

Practice Simple and Compound Interest

u When you read a word problem, ask yourself the following questions:
+ |s this simple or compound interest?
{Usually if the word “compounded” isn't there it is simple interest.)
+ Given a monetary amount, is it the present value, or the future value, or the interest earned?
+ |5 the time given in years?
{If not, convert using the following : lyvear = 12months = 52weeks = 363davs )

Finally, if the question is compounded, it will tell you the frequency of compounding. Here is what you must know:

C=1 annually C=24 semi-monthly {twice in a month)
C=2 semi-annually {twice in a year) C=26 bi-weekly (every other week)
C=4 quarterly C=52 weekly

C=12 monthly C=365 daily

1. All of the questions so far will be about a single deposit being made. Summarize all the formulas you will have to use
for simple and compound interest that involves SINGLE DEPOSITS.

Sim owé T
T=¥¢ N- € Qe
\?ﬁ n=Ct

(&

EJ Llfe PI’O]ECt Randomly select a bonus received at your job. Suppose you put your bonus aside as savings into
a GIC (guarnateed investment certificate). Randomly select the GIC option and for how long you were able to keep the
money investad before you had to take it out for unforeseen expenses. Then calculate the final amount and how much of
that is interest.

Ex. An Invesiment of 34000 I Invesied a1 5% for 130 waeks.
WWhat ls the final amount? How much of this 15 Intarset?
Caore2rl ime Inlz v2are: 130+52 befors you use the fomula
[=Pr

= feonmnany 0

[= 200
Final amount os 4300 + 530 = 34500, and Inlerest ls $500.

Llfe PI’O] ECt Randomly select a debt that you incured because of some unforseen circumstance and the time it

takes to pay it off. Randomly select a credit card rate with which you chose to pay off the debt. Then calculate how much
you'd owe in total and how much of that was intarest. For simplicity assume the debt was paid in lump sum at the end —in
reality, it is always best to pay off as much as possible whenever possible.

our cradlt card.
mpounded quanzrly.

Ex. Suppose you gpent §120
The craglt card chargee 19.5%
It you gldn't pay It for & montne
U e In ROLEI7 How much of that |5 Inerest?
2 ime 10 years: 1=
2ri rata to paodle r
Fing 1043l numbzr of compaunding
Waw uge the formula

A=FPl+0"

-
F+C=0.185+4 [lezve the cakulation for later)
perlods: n= 01 = 4(0.5)=2

412000« 2255
4

A=131283
Total gebt was 51315.35 and part of fiks wae Int=rest of 119,35

Finance Page 5
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=2 A
m 2. Whatls needed to havin interast in@)‘b 3. How much needs to be invested thiﬁtg have §2500
years invested a@ interest? |n®years at@Tp per year, compounded guarte
(=0015 =0.08 Cc=y
i QT L=006 f?: PL\{L)
0o =Plo0S Y M amo= P (1t 020"
0 = ¢ (005) P :
+ ‘ W&. 85000 = P g vol&Y .- )
3060 = ¢ PR $1236160 =R o voned
c=|
4. Howlong wnuld it take for §2500to grow to E2700)at an 5. Calculate the interest rate compounded annually a@400) P
\c=" interest of @ 5% @ 3;;) investment would make if final amount was after
=0 o\kf 1 200 t @ years. e ol 1t i—) " A
= ? = 2
T=0ct = woo( 1+ v)
2o0= 53S0 (0.04)t @)-2 o ‘gi(\
sw= 1St n=\@=a (S =l
1§ =t [3a4F.. =\
o 0.0 .. =Y o savtP

-2

T
6. Calculate the simple interest of a ?HVESTT“EN at 7. Calculate the final amount of a @lnvestmem at(d 3,

10'3?02\;3;@tars j—,\ort % we@ years - C=4y3s L
<0043
T =6 (0 0738 &) ot ) T=0rt
T=91.3% Comp® =350 (0 .ow‘-\rl's)

?

= (0b, 8%
ol amonat = BSE. 8%

8. Determine the amount of interest that was earned from an investment a.’ for Eyears, compounded monthly if
the future value is ®A (=0.0245 ¥ c=lz2

n=lalp)=2k A=Y (Ut L) 2%

= -+ oﬁf)__&f)
3500 el =

L; 0102"(7
@ 3o = ¢ (1otkgas... ) o dnes) eoored <2978

P1950.3 = ©

E 9. What is the final amount after 3 years, if you make 3 deposits of $500 at the @nd/df each year into a bank account that
pays 4.5% compoundad annually? (Note: when there are many same valued deposits made ke in this question, the
total value is considered an annuity. )

s d{(,os'\\’-ﬂ#jw 2agees ged oltpos\“r Cta R Tye ar A\Ns&
00 (\-too_;(() o 1+ 0&“)’ tzp0o
|
- 0 ( 10¢2085) — 0 (10%)
560\ - g o
STVAL = SOl 4+ 623SO + Svo
- 1S6¢.SI

re o E\uo{(\w&\“‘ﬁ "1 = \$b¥.S)

2%
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Annuities

Name:

a When the question is mot about a single deposit but about many regular deposits or payments you must use a different set
of formulas. The term annuity describes a series of regular deposits or payments.

1. Summarize the annuity formulas here (give both PV and FV formulas)

PV = P = present value or discounted value (big amount of § in the present, without interest)

FV = A = future value or accumulated value (big amount of 5 at a future date, with interest)

R = regular deposit/paymant (smaller amount of § deposited/paid many times over a period of time)
For present value — R is with interest. For future value — R 15 without interest

C = # of compounding periods in a year

r = annual interest rate (% written as decimal)
i = periodic interast rate (% written as decimal)
t=time in years

n = total # of compounding periods

FU=R{UaY AL

(%4

-R [\— U+L)-h\

ﬂ 2. Try to identify which of the above questions deal with present value and which with future value. \What are you
supposed to look for - to know when something is present value and when something is future value? c=2

. (s
ey} A “Mario deposits §600) d\t the end of ever@ﬁﬁsavings account payin. cumpnunded@
He does this for & years. What is the amount of annuity and what is the total interest earggd’? n=g(g)=lb

’, =9

PV B. “Steve is buying a new Harley motorcycle. His monthly payments are §55D with interast Within the payments which
was charged at@cnmpnunded . What is the cash price of the motorcycle if he makes payments ford) ©

years?” c=\2

Q0 e
NO\'-’ - u*\'Lom& N\\‘\&St

3. Answer problem A. . \OANS (ws

(3
g )
) R

Fla0aq\s Ak awg* 2

Quk W0 ' goo \I\S‘GLVS ~ Q\WFQW\'\\N’&)Q
= 4b S

IrNRRS YT w-r-\a ava.\»

Finance Page 7

v Volwe — ?‘:é) Amovek 2y ¥

\A&U)/V\Mﬁb-d ™
fature” — with  mikest

tee Tavestmads (wswlly)

4. Answer problem B

12

ei- oo [1- Uee™] o™
ol teeg)

(222
- 29 %b. Is *";ﬁ 1m¥ﬁs 5L e
?0.\; ’\~O wh‘t QSDX Haﬂwsﬂl')_mo-\'ﬂ'\?
- 3' 200

IS o@\:\ | 23.85
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m Life Prﬂject Randomly select an item that you will either

Option A: save up for by putting 5% of your biweekly earnings aside every week
Option B: save up for by investing the 5% of your biweekly earnings at 3% compounded biweekly
Option C: buy now and pay off by biweekly installments at 8% compounded biweekly

A Suppose you can save 5% of your biweekly net income. How long will it take to save up for the item you selected?

State your answer in number of biweekly periods and in years (round up}.

Ex. Civil ngineer's Biwsskly net sarnings = 2 13255

Save 5% biweekly = 0082422 55) = 107,58

It=m sel=cted i medis cxntre has veios of = S5300

Mummiser of biwesily pericds nesded to s2ve LR for this meciz pantre = 5000-107.86 = 46 Diwesily paricds
Time i year = 15 pasrs

B. Instead of just putting the money in a regular savings account that doesn’t give much back in terms of interest.
Suppose you put your biweekly savings, calculated for your salary, into an investment portfolio (every other week
same amount is deposited) with a 3% rate of interest compounded biweskly. Calculate the total amount you'd
have at the end, and the amount of interest you'd still have in your pocket after the purchase of your item. {use the

same time you've calculated for your item in part a, even though there will be rounding error)

Ex. Reguinr d=posit made = § = 107,58

Time to save = 4.5 yesrs

Perisdic intarass rate = i = r0 = 003526 |emyvs the calculstion for ieber]
Humriser of compaunding paricds = n = k= 25/1.E) = 468

How use the formuia:

Fp o 01

~eare . D03 e

107.88[(1+ Sy -1}

A0.03

Y28
FIF=317450

Tatal amount 3t the end 2 35174.20 and $174.50 |5 In your packet for Invesling the money afer you've boughl your meala cenlre.

Flm
1

C. Suppose you didn't want to wait for the money to be saved up, but bought the item now by financing it at 8%
interest charge compounded biweekly. Calculate your biweekly payments to pay off the item in the same time as
you used before. Then calculate the amount of interest you ended up paying to the lending institution for the use of

their money.

Ex. It=m t2 b= finanoed is the media cantre = By = 35000
Time to pey off the loan = 1.8 years
Perisdic intarass rase = i = o0 = 00ESZE [emvs the caioulstion for imter]
Hurmiser of compounding pericds = n = Ch= 25[1.E)= 6.2
How use the formuia:
sy R0+
i

) 0.08,
-0+ 28]

0TS,

[ ]

T

5000 - {43 514250675].)

L1438-E

5000 -

Biwaekly pavments ar2 37114.58 made for 1.5 year or 26.8 blweekly paymenie amounle t 3537635, Thie Ie 3375.38 of Intersst that you pald to the lending Instution |ust

becauss you decidad nod to walt to save up for It yourselt

Finance Page 8
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m‘j.

Jasmina wants tu?ave money for retirement in an annuity. She plans to make equal monthly deposits, at the end of

each month f{:r@years in a trust account that has a guaranteed interest rate of@% compounded @ianthly. She wants
to have ¥500 000 in the account at the and of the 25 years. What amount must be her maonthly deposit? What is the
interest that she earned by using the trust fund? 1= 0.04 c=(2
v V= &X{(\&L}“ .Y\ e
=7, : n=1a(as) =300
- c
w&'\‘-’\— o 00 x
‘ W 000= R (108 ~!
L2
(fgﬁ\
(2
@0 00 = &(\ll‘.\ll“\ . ) A lels.lq&- x‘}Sgl-"‘ x X "“"‘.ﬂ.‘g
& - PUT =\ ray ;
Llngl qg - ﬂ ° v \fs = 3‘6 106 WN-\—LsarL (\v
c=4 oo W‘-\g"‘s 2’ —‘or{,{_‘-r(,,\l,.l*

Y \g
Sonia purchases a new vehicls for t compounded Quarterhpand makes payments at the end of every f""}

3 monthsy Find the monthly payment. How much would Sonia pay in interest?

e Pv=R {1- (=Y

n= cE=Yls)=2e b .
1"°~°:" & 00 = R\/\ - (= °‘%‘z) l
&3
1Yo00 = R U‘»-””»- ) posd 1652l X S yanes < Hguety

= 233 184 20
o el ody = 46184, 20

each year that pays 9% compounded annually.

s, = R

Finance Page 9
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Calculating Interest Flowchart

——

-'-F.r.._._,..-r" "“1-._,_‘_‘_“‘“

;P(_L‘EE "~ ] W
A - ) M\l?ﬁb
L= .
c
n=Ct
& %
tl\
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Mix of Questions — what formula to use?
oV c

97 ? |
m 1. Jamail wants to have 310 4 Dyears. How much should he invest now a@; compounded@wﬁctl
A&Sv\‘\‘ saw oy J‘L{Joﬁ‘\'s IL\ ;?( l—tC)w

1=0.0S6b% 31000 = P Ll‘tot" ggg—)‘\
Y £
n=a(ws)=9 3000 = P (\\28%‘1%(0 )

Faop.bs =F

- uo
c ta T
2. Abbas invested a certain amount at a rate o@ over@meeks. If he received 349.95/in interest, determine his initial
amount of investement. P=7

Abe%v\‘\* 32 c,oﬂ\fo\m‘g_u} > j——— P‘_-L—
Lﬂ% = PL 005 ﬁs%u)
Wab=? (o,'smlc...)
1248.96 =P

PV oc ©

3. Joanna was awarded §48000 and she has selected to invest it in an annuity which will pay her@fu per annum
compounded or(1.5years. How large iz each payment if she is to receive a payment every (3 months?
Cc=Y

€ R= 2 . guertrly
o008 pv=r] (- (Y]
4 :
e u(15)7C 1¥000 = & D' (i @fys}

By
w
Ygow = R ('5‘26&{8’?-- )
g2l =R

10
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| Y

m 4. much money must be invested(no at per annum comp{nunde to provide for monthly paymer@]uf
400 nr@rears'? —

K ol C=l%
ot Pv= "LOO[[—UTOL%)'”I
T (2
\2- (Q;&E"’
n=1a(3)=% (2
.
=303, b5

1 \
5 Bal investedior@;’tears at a rate 0 {:ompuunde@How much money will he have at the end

of his investment? C= 2 =7

gy B A= e ee)

T
1=0.0% — ofo)
v - £ O\
=3
n=a(38)= % ob4l. 32
6. Suzanna wants to have §23000in d@irkears. How much would she have to deposit every manth for the next@rears
at a rate u@ compoundad monthly in order to have enough money. np.«y !
s c=\2
RN
5.0 Fv= {1+ BN
L=0.1° -
- C
&
n=\aW)=Us _ o\
o0 = 0.\ )
4 Ri(lxal
0.L°
Iz

2300 = R (58.22944... )
34(6%F = &

11
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Annuities with a TVM Solver

u Since you are dealing with money, two decimal places are appropriate.

Press the MODE key and find where you can select 2 decimals places — could be under Float
Press ENTER to select it
EXIT

Press the APPS key and find and select Finance. Then find and select TWM Solver. There may be some numbers left in the
TWM solver from a previous use. Just replace these numbers with yours.

What do all the variables mean?

N=N
M = total number of payments (# of years x # of times compounded) %ﬁ:?_ i 3%545?85?
1% = interest rate as a percent FHT=5
PV = present value or principal FiW=12688
PMT = amount of each payment F"-”H"f?
Fv = future valua Eﬁ?ﬂ%ﬂ! BEGIN

P/Y = payments per year

C/Y = compounding periods per year

PMT: m BEGIN to select when payments are made — ALWAYS USE END
1. Esteban and Suzanne want to take their sons on a vacation to Florida in 1 year. They estimate the trip will cost
$2500. They have an account that pays 3% interest per year, compounded monthly. Determine the amount thay will
need to deposit into the account at the end of each month to reach their goal.

Use the cursor keys and number keys to enter the numbers where they belong.

N=N =12 « there are 12 months in 1 year ‘\'DM '\b % Loy ?jff%%
= 1% = 3 < interest rate is 3%,/ year EH? 'ag. eli?a
PV = 0 « they have no meney in the account right now ;3?31:? a'ﬂlae
Q\,. PMT = ___ « the amount to be calculated e}\"\‘w OLS N%&*‘\L E’ﬁ¥= i BBBEE IN
nt

FV = 2500 « they would like to have 52500 at the end of the invest
P/Y = 12 « there are 12 monthly payments in 1 year

C =Y = 12 « since it is compounded monthly, there are 12 compounding periods per year

N=1Z.8a
To solve (find the payment), 1%=23.88
i.  scroll up to PMT EH_:' .48
ii.  press ALPHA, and then ENTER ;y;gg -999
Coy=12. 00
FMT: a3l BEGIN

Naotice that the payment is negative.
The TV Solver distinguishes between money received (+) and money given (-). The negative value makes sense since
each payment is money that Esteban and Suzanne give up.

. Esteban and Suzanne need to deposit $205.45 at the end of each month to reach their goal.

12
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bk conetl Fv

JesseAvants to have a party for his girlfriend's birthday

in eeks. He estimates it will cost him §500 for

snacks, drinks and entertainment. His savings account

pays@interest per year, compounded m&ﬁ'.iﬁow
C

much money does he nead to save @S‘L

EZ.

£ %05 )
¥ _»

c
FMT: |!i1! BEGIM

Name:

erenck!
3. Tatiana wants to buy a surround-sound sysiemigher
TV. She wants it in time for her vacation, i{@ fonths.

It costs 8TI0F VHer account pays‘ (1.8% interest per

year, compoundad monthly. How much does she need
to save each month?

N= w(%)=u4
IZ-IX

e, sy 2D

C
FMT: |!il! BEGIM

E 4. (Carrie and Bill want to build a deck and landscape their backyard. They estimate it will cost S4000. Their account
pays 2.5% interest par year, compounded monthly. They can afford to save 5325 per month.

a. How long will it take Carrie and Bill to save 540007

b. What payment would they need to make if they

N= ° n=Cck% already had 51000 saved?
I%= 25 N= 12.48
PHT=25 p=QNE ? o Is=2s o
= - =0
e |\ 7 PMT= 2 Q9T gw,__i—l—d
gl FV= 2000 ~
7V PoY= o s
FMT: SR BEGIH CoY= \o

2P

c. [Iftheinterest rate is lowerad to 1.4%, how long
will it take? covkinue

= % ck

0\‘4% N_,}l"
A

FMT: l!il! BEGIHM

d. [Ifthe interest rate is 1.4% and they only have@)
months to save, how much would they need to save
each month?

Lzl 07 5% N> ﬁg/”) =8

= O < =

PMT= 25" S \(& gé - ¥ P!L.'=_o7 $3’.}5 W+
EE;SS?' \09 0SS FU 2000 sk ot

FI‘1T [} BEGIN

PsY=\v
o CrY= v
N ,.}# PMT:|=28 BEGIN

To complete homewaork without the graphing calculator use the following online applets:
http://www.zenwealth.com/BusinessFinanceOnline/TVvM/TVMCalculator.html

OR

hitp://www.mortgage-a.com/mortsace financial calculators/calculator.htm

Finance Page 14
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15| Unit & 11UC Date: Name:

Life Project — marked as KU for this unit PN SWERS ol

As you get new information, tape/glue/staplef write the information you get hera. \[0‘(
Show all the calculations on this page —to be submitted for marks later.
1. Randomly selected career & salary:
Lowes\ = \\ 000 “\S\i« = 320 000
Do YeedSe O.MQSMW\O%\T&
a. Federal tax = 0‘\§&\\ m\’ \m0 O‘K('ﬂg‘i‘l\{- 0-7—7—0"91‘4\ + o‘u’bﬁ}”’) T 0.7-0&“\ Lbo)’— ¥2 B4 4o
Prmr_incial tax = ) o505 (W 00 ) = 55550 0«0%3&%’(\"\‘\\* o‘o‘\\gk-“;\z\q £ 0.6 (’1;1\1 ‘4'1%) = 3044y 44
Natincome = Y3q4.50 WY 651\ '
b. Biweekly gross earnings = 412, 0% \l')n’r,sﬁ.
Biweekly net earnings = g .25 %Y %

Taxes deducted from every paycheque = 81831 1169

c. [if you choose to do the BONUS attach that information to this page before you submit)

2. Randomly selected Bonus and GIC investment:

\/owes’c% 6 \)\Qrs\o.s\' o o0
D.¥°% fox \\azw L e 8‘3‘5
4= 0¥

Final amount of investment = @MO * 10 §v0
Interest = D Mo Boo

3. Randomly selected unforesean circumstance and credit card rate:
3
Lowest P30 in \mort iahed 120 000 1 Syrsus
\B"g wpow-&'-& 'SQ,M‘\MNM&X"j &\’A wgw a‘a‘\j

Convert time to years, if needed: t= \ %12 =0.0%3 B
Convert rate to periodic rate: i= r+C= 0,642 0.2 2%s
Find total number of compounding periods: n =t = a(o.o&a)z 0.\b = %S (g\ = 325
Mow use the formula:

= ?K\*L)“

Total debt= 303.5% \ S35, W
Interest = ) §% 2 \353%

15
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16 |Unit 8 11U(%R§\13e: Vivek nf Sldoy ek wd Name:

T\poy ~ 13625 800 ~ 181120
4. Randomly selected item to buy is: 4
Lowest  *upo \&\&\u\i D 00
Fnmabond \poal
Option A: How long will it take to save up for the item you selected?
Your biweekly net earnings = %2%.29 Ay
Sava 5% biweekly = oA\ 33, .Sk
Itemn selected has value of = Yoo o @
Mumber of biweekly periods needed to save up for this itern =2Y 1Y PMVBS
Time in years = DA 4ens T Yot
Option B: How much can you save if you invest your savings?
Regular deposit made =R = || ) 2935k
Timetosave= 04 Y4
Periodic interest rate = i = r+C = 0.0 =26 __E
Number of compounding periods = n=Ct = &BLO-Q)'- By ablY !\) = 124
Mow use the formula: n
U= -\
—
v
ST

Total amount at the end is= Y| 9b
Money in your pocket for investing the money after you've bought your item = —Hﬁ(: EALRE

Option C: How much money will you be out for buying the item with a loan?

Item to be financed is = Pv = 400 5D 00O
Time to pay off the loan = 0.4 Y9
periodic interest rate =i = r+C = 008520 -
MNumber of compounding periods=n=Ct= AQ,\O.‘\\ =B R4
Mow use the formula: "

W= R - () X

\

Biweekly payments are = |1,34 ﬁkn Y3500
Total amount paid to the institution = YIG.\L W S\S
Interest paid to the lending institution = \g (2. o S

16
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